Download More Papers From www.GovtJobsAlert.In

Click to Print | logout

“-—, =c Staff Selection Commission
(Government Of India)
L

QID : 1 - In the following question, select the related word pair from the given alternatives.

Canada: Ottawa::?:?
FrfafEa w8 Ry g faeredt & € defda g g &t g

HATST: SleEr::?7:?

Options:

1) Egypt : Cairo
e wifg

2) Norway : Havana
a1d : garT

3) France : Rome
G : I

4) Kenya : Teheran
ST : AT

Correct Answer: Egypt : Cairo

e s

Candidate Answer: France : Rome

g A9

QID : 2 - In the following question, select the related letters from the given alternatives.
JQXE:LSZG::MTNL:?

fafafea uy § Ry 7y et & @ 96fda siert o0t 9T

JQXE : LSZG:: MTNL:?

Options:
1) OPVN

2) KRPN
3) OVPN

4) OPLJ

Correct Answer: OVPN

Candidate Answer: OVPN

QID : 3 - In the following question, select the related number from the given alternatives.
7:48::11:7

FeafafEa w8 Ry 7g foered & & wefda I & gl
7:48::11:?

Options:

1) 120

2) 121

3) 131

4) 170
Correct Answer: 120
Candidate Answer: 120

QID : 4 - In the following question, select the odd word from the given alternatives.

FrfafEa ue | Ry 77g foredt 7 & faww g &t gHg)
Options:
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;_‘)quuare

2) Rectangle
Sad

3) Cylinder
CoEl

4) Triangle
Fragst

Correct Answer: Cylinder

Candidate Answer: Cylinder
EGE

QID : 5 - In the following question, select the odd letter from the given alternatives.

frafafea v & Ry 1y foredt & 9 fwm sier &0t gl

Options:
1)A

2)s
3)U

4)1
Correct Answer: S
Candidate Answer: S

QID : 6 - In the following question, select the odd number from the given alternatives.
Frafafea uw | Ry 7g foeredt § & foww e @l gkl

Options:

1) 216

2) 125

3) 343

4) 510
Correct Answer: 510
Candidate Answer: 510

QID : 7 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Dragon
2. Draculla
3. Dormont
4. Drapery
5. Deviate

fffad weal ol 2reaentsr # 11 arel 37 & IgER ferd]

1. Dragon
2. Draculla
3. Dormont
4. Drapery
5. Deviate

Options:
1) 53214
2) 53124
3) 53421

4) 53412
Correct Answer: 53214
Candidate Answer: 53214

QID : 8 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
KV, LU, MT, ?

e S1eRH foar man 8, FOreW € Uk Ue g &1 iy 7Y fenedt # & a5 9@l fened 9T, ST srgehd ot g al

KV, LU, MT, ?

Options:

1) NS

2) 0S
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3)0U

4) SN
Correct Answer: NS
Candidate Answer: NS

QID : 9 - In the following question, select the missing number from the given series.
3,4,5,4,9,10,6,16, 15,9, 25, 20,13, 36, ?
fafafea vy § Ry 7y et & @ g ofe 31 hifSgl

3,4,5,4,9,10,6, 16, 15,9, 25, 20, 13, 36, ?

Options:
1)17

2) 25
3)28
4) 31

Correct Answer: 25
Candidate Answer: [ NOT ANSWERED |

QID : 10 - The ratio of present ages of Anil and Aakash is 4 : 5. Three years later their ages will be in ratio 7 : 8. What is the present age (in years) of Anil?

ST TUT SATRIRT T FAAT ST T AT 4 1 5§ 1 TN A1G SeTehl 3T, T SIIUTT 7 © 8 B SIQT | SAfAeT Y arAT Sy (st #) w82
Options:

1)8

2)6

3)4

4)10
Correct Answer: 4
Candidate Answer: 4

QID : 11 - Karan remembers that his sister's birthday is not after 18th August. Karan's mother remembers that Karan's sister birthday is before 20th August but after
17th August. On which date of August is Karan's sister birthday?

R I TG § T IR S§T T STFATR 18 ST & STE 718} g | T ch AT ot ATG & foh el ohY a8+ ot S+ 20 SRa @ Ugd Afth 17 SRA & 15 & | e hY I8+ ohl ST ST
fI forg aia 1 &2

Options:

1)18

2)17

3)19

4) 20

Correct Answer: 18
Candidate Answer: 19

QID : 12 - In the following question, from the given alternative words, select the word which cannot be formed using the letters of the given word.
Superconductors
g Mg wy &, Fefofa Rl & @ g8 sse 9w St fig g 2rsg & s1eRt o1y sk TEl ST S Tehdr 21

Superconductors
Options:
1) Sports

2) Spunt
3) Stern

4) Spectrum
Correct Answer: Spectrum
Candidate Answer: Spectrum

QID : 13 - In a certain code language, "PEN-TAN" is written as "0". How is "DEN-COB" written in that code language?

U fAf® e umwr &, "PEN-TAN" &t "0" forar SITdT &1 59 ohis 9o § "DEN-COB" @ fh UepRR forar sirgam?

Options:
1)8

2)3
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3)9

4)7
Correct Answer: 3
Candidate Answer: 3

QID : 14 - If "+" denotes "multiplied by", "+" denotes "subtracted from", "=" denotes "added to" and "x" denotes "divided by", then which of the following equation is true?
gfg "+" o1 aref "Tpomr” B, "+ 1 aref "wera” &, " o oref "Site" € @t "x" ot oref " 8, At afafea 7 @ o a1 wfiensor wé @2
Options:

1)16+19x21-5=201
2)5x6+4+3=37/6
3)6x3+12+3=21

4)18 x 6+8-12=36

Correct Answer: 18 x 6 +8 - 12 =36
Candidate Answer: [ NOT ANSWERED ]|

QID:15-1f5#9@7=52and3@ 9 # 2 = — 89, then
7#6@9="?
aR5#9@7=52qM3@9#2=-89g,ar

7#6@9="?

Options:

1) 67

2) 56

3) 43

4) 28

Correct Answer: 67

Candidate Answer: [ NOT ANSWERED ]

QID:16-
In the following question, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

T uy # G ow et F ¥ uy Reg
(?) & TUET W HA T T FH g@T

3 17 2 16 6 13
11 4 10 7 15 2
Options:
1)1
2)2
3)3
4)4

Correct Answer: 1
Candidate Answer: [ NOT ANSWERED |

QID:17-
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How many triangles are there in the given figure?

& o g 3 Reet et &7

Options:
1)12

2)13
3)15

4)18
Correct Answer: 15
Candidate Answer: 15

QID : 18 - In each of the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they
seem to be at variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:

I. All stars are white.
1. All white are moon.
Ill. No moon is blue.

Conclusions:

|. Some moon are stars.

II. No blue is stars.

Ill. Some white are stars.
IV. Some blue are white.

2 Q7T ues U H 8 U SR I d1e I Y R TR §© et &g g €, gretifon S G A1a aat @ fradn g wendt 81wt fsend o ofk fiRr frafRa & fs g
Qg A § e g 77 e & ameR wR gReeTd &1

hY:

. Toft IR gthe E1
I1. Toft Tohe =tE §1
II. ¥E TTe e =18t 81

fArseptf:

l. g AR ar &l

I1. ¥ e a7 &1

IIl. $© gt ar &

IV. & el Tohe &1

Options:

1) Only conclusion (1), (1) and (l1I) follow.
et Fwmef (1), (11) T P (1) 98 &

2) Only conclusion (lll) and (IV) follow.
hadt fasae (111) qm fFsey (1IV) 98t &1

3) Only conclusion (1), (I1) and (1V) follow.
et Fwnd (1), (11) T R (1v) g &1

4) Only conclusion (1), (111) and (IV) follow.
et Frsae (1), (111) qem Fress (IV) 98 &1

Correct Answer: Only conclusion (1), (I1) and (lIl) follow.

et e (1), (11) T Fse (1) 98 &

Candidate Answer: Only conclusion (1), (I1) and (1) follow.

et et (1), (11) e s (1) 98t &

QID:19-
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Three positions of a cube are shown below. What
will come opposite to face containing ‘5™?

= T ud A 1T FaEuT R T § HE
‘5’ Ul Bl U Hid |1 3 AM?

w3 5 e

5

Options:
1

2)3
3)4

4)6
Correct Answer: 1
Candidate Answer: 1

QID:20-
In the given figure, how many books are fiction?

& % ampla &, frae qrad Feuae ¥

Printed /
g _75/%(_1;\11— Books / g¥eé
|

9 . 34 E}é‘_ Fiction /
FTedieled

Options:
1) 23

2)18
3) 53

4) M
Correct Answer: 41
Candidate Answer: 41

QID: 21 -
Which answer figure will complete the pattern in the
question figure?

FT W TR AP TF JFla & ulaww & @@
FYaM?

?
>

N

Options:
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N

/

\3

S
=

»

Correct Answer:

/

Candidate Answer:

S

Correct Answer:
=

Candidate Answer:
2

QID: 23 -

T,

L

Download More Papers From www.GovtJobsAlert.In



Download More Papers From www.GovtJobsAlert.In
Options:
1)
P
2)

L,

L

3)

oo
oo

4

2

Correct Answer:

e

Candidate Answer:

2

QID: 24-
If a mirror is placed on the line AB, then which of the
answer figures is the right image of the given
figure?

Iy F gOUT @ AB T W @ AW, &t & o
IO HEaar A F Fid @ JGa U Hga
mer ufafesa gefr?

Options:
1)
2

2)

L

3)

4)

=2

Correct Answer:
=2

Candidate Answer:
[P

QID:25-

=

Options:

1) 43, 23, 55, 56

2) 33,30,67,75
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3) 11,42,86,98

4) 20, 04,79, 87
Correct Answer: 20, 04, 79, 87
Candidate Answer: 20, 04, 79, 87

QID : 26 - Which among the following is not an account under Balance of Payment?

fafafea 3 @ @ a1 oram dqem & sfarfd ges @rar 78l 82
Options:
1) Current Account
il @rdr
2) Capital Account
geiiTa @rar
3) Official Reserves Account
ECIGI
4) Unilateral Payments Account
Qeh-dRhT T @Tdl
Correct Answer: Official Reserves Account
SRfE @rar

Candidate Answer: [ NOT ANSWERED ]

QID : 27 -

1= A

Options:
1) 1-c, 2-a,3-b

2) 1-b, 2-c, 3-a
3) 1-b, 2-a, 3-c

4) 1-c, 2-b, 3-a
Correct Answer: 1-b, 2-c, 3-a
Candidate Answer: 1-b, 2-c, 3-a

QID : 28 - Who appoints Governor of a state in India?

R B I & TsguTe <ht YRR i hear 82

Options:
1) Prime Minister of India
VR & TYTH

2) Council of Minister

3) Judge of Supreme Court
gatea =raTery a1 =aranefier

4) President of India
WRd &

Correct Answer: President of India
IRI &

Candidate Answer: President of India
IRI &

QID : 29 - What is the literal meaning of 'Certiorari'?

‘IUYUIELT IT IAOT F 7 AT 872

Options:
1) We command
7
2) To have the body of
T Y TIRR TG BT
3) To forbid
&THT h3AT
4) To be certified (or) to be informed
THATTOT et AT

Correct Answer: To be certified (or) to be informed
THATIONT et AT

Candidate Answer: To be certified (or) to be informed
AT AT

QID : 30 - Which among the following Mughal Emperor was illiterate?
frafaf@a & & 9 a1 e e srffdie ar?

Download More Papers From www.GovtJobsAlert.In



Download More Papers From www.GovtJobsAlert.In
Options:
1) Shah Jahan
A STet
2) Aurangzeb
STt

3) Akbar
cheR

4) Jahangir
STEHTR

Correct Answer: Akbar
3TchsR

Candidate Answer: Akbar
3TchsR

QID : 31 - Where was the 'Azad Hind Fauj' founded?
"3TTG, f&& WIS hY T Rt ht 11 of?

Options:

1) Singapore

2) Thailand

DI L

3) Britain

foe

4) Italy

Correct Answer: Singapore

Candidate Answer: [ NOT ANSWERED ]

QID : 32 - Strait of Malacca separates which two land masses?

HeTeRRT STSHEHS fohe & (T i ST vl 872

Options:
1) Malay Peninsula and Indonesian Island of Sumatra
AT UTTEIY dT ST 1 g9 AT

2) Africa and Europe
SRR AT IR

3) India and Sri Lanka
IR T 2fted

4) North America and South America

It srafRent aur gfaroft smfRent

Correct Answer: Malay Peninsula and Indonesian Island of Sumatra

AT TR q2T $SHAR1T 1 £10 AT

Candidate Answer: Malay Peninsula and Indonesian Island of Sumatra

AT TR q2T $SHARmT 1 £10 AT

QID : 33 - The latitude which passes through Sikkim also passes through .

RAfFers § oA aren srerir @ oft qoRar 21
Options:

1) Haryana

giamom

2) Rajasthan
SR

3) Uttarakhand
IRETS

4) Himachal Pradesh
femmeer wer

Correct Answer: Rajasthan
ST

Candidate Answer: Uttarakhand
IREUS

QID : 34 - Which of the following is not a plant hormone?
FfefEd # @ o9 91 g eafdoiTd I §THIH 8l 87

Options:

1) Gibberellic

INEIGED

2) Auxins

SiferT

3) Cytokinins

BIEREIEE]

4) Thyroxin
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AR

Correct Answer: Thyroxin

Candidate Answer: Thyroxin

QID : 35 - Nephron is related to which of the following system of human body?

Frfafea & § drra R 6 frg gomredt @ Ahia defad §?

Options:
1) Circulatory system

2) Excretory system

3) Reproductive system

S YoTTedt

4) Respiratory system

qq7

Correct Answer: Excretory system

Candidate Answer: Excretory system

QID : 36 - Which Vitamin is obtained from Sun rays?

T & foreotl @ @t &1 ferfae o g &2

Options:
1) Vitamin A
[ECUEE]

2) Vitamin C

[ECIEERS)

3) Vitamin K

[ECIEEE:T

4) Vitamin D

[ECIEEES

Correct Answer: Vitamin D

Candidate Answer: Vitamin D

QID : 37 - Speed of light is maximum in .

_ d g afd gaifde g1

Options:
1) vacuum

2) solids
319 garef
3) liquids
e uer
4) gases
T

Correct Answer: vacuum

Candidate Answer: solids

g uaref

QID : 38 - What is the Sl unit of electric current?

Fare[a T a1 Q. ST, W o 82

Options:
1) Newton

e
2) Joule

S
3) Ampere
AU

4) Watt
afe

Correct Answer: Ampere

Download More Papers From www.GovtJobsAlert.In



Download More Papers From www.GovtJobsAlert.In
Candidate Answer: [ NOT ANSWERED ]

QID : 39- An IP address is bit number.

THeEdiyga_ fRedw=nsl
Options:

1)8

2) 32

3) 64

4) 104
Correct Answer: 32
Candidate Answer: 64

QID : 40 - Process of loosing electrons is known as .

QR T R R IR A a2l

Options:
1) oxidation

2) reduction
kirope

3) radiation

4) both oxidation and reduction
I JUT 3= S

Correct Answer: oxidation

Candidate Answer: oxidation
Sferfiepzor

QID : 41 - Anions are formed by .

FOWHE___ ZRISAA &1

Options:

1) losing of electrons
AR AT ]

2) galning of electrons

3) gaining of neutrons

4) losing of neutrons
R

Correct Answer: gaining of electrons
Candidate Answer: [ NOT ANSWERED |

QID : 42 - Which among the following is the major cause of acid rain?

frfafea 7 4 swefla auf &1 g wror 31 82
Options:

1) Carbon dioxide

HIH STEHTFAES

2) Carbon monoxide

P ATHTEES

3) Nitrogen dioxide

LIS STE3HTRTES

4) Oxygen

TR

Correct Answer: Nitrogen dioxide
FEC I CR XY

Candidate Answer: Nitrogen dioxide

ATEEIoH I3RS

QID : 43 - First state to implement Saur Sujala Yojana is .

___ ER STl aieHT | A are ugell 59 gl
Options:

1) Chattisgarh

ERisor

2) U_ttavranchal
FENEC]

3) Gujarat
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4) Maharashtra
HeRTY
Correct Answer: Chattisgarh

Candidate Answer: Maharashtra

QID : 44 - Who is known for the invention of 'World Wide Web'?

‘Tos a15e 99 7 fay et a9’ & ifashr & forg fFd S Sar 82

Options:
1) Sir Tim-Berners-Lee
W e s <t

2) Maxwell
Aade

3) Martin Cooper

féT FuR

4) S A Forbes

9. U. Gisg

Correct Answer: Sir Tim-Berners-Lee

R fom o=t =t

Candidate Answer: Martin Cooper

T R

QID : 45 - B. Sai Praneeth is associated with which of the following sport?

. wrg oty e F & v Qe @ eifea 82

Options:
1u) Hockey
gt

2) Badminton
Jefiies

3) Chess
AT
4) Boxing

Correct Answer: Badminton

Candidate Answer: Badminton

QID : 46 - Which of the following pair is incorrect?

fFafofea § 9 o ar sier a8t 78t 87
Options:

1) Muthuswami Dikshitar - Carnatic Music
gt Sifard - dfees Wit

2) Parveen Sultana - Singer

3) M.S. Gopalakrishnan - Violinist

TH. QH. MU - Jifearadh

4) Nandlal Bose - Flute

T S - §n

Correct Answer: Nandlal Bose — Flute
T S - §n

Candidate Answer: Nandlal Bose - Flute
TS I - SR

QID : 47 - Who among the following is the 2017 Asian Award recipient for the outstanding achievement in Cinema?
frfafed & & & F & 85 | IPE Ttherd & o7 2017 3 YRR JRERR UTeddhdf 87

Options:

1) Kunal Nayyar
PUITA TR

2) Vishal Bhardwaj
famer RS

3) Om Puri

ang

4) Zeishan Quadri
She 2
Correct Answer: Kunal Nayyar

PUITT TR

Candidate Answer: Kunal Nayyar
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QU TR

QID : 48 - Who amongst the following is the author of the book "Rekha : The untold story" a biography on a veteran actress Rekha?

frafafea d 4 fra oRaes gRT argwelt arfesh 3t Sftet " : R areles @i foredt 718 82

Options:

1) Yasser Usman

refiR ITEE

2) Anand Neelakantan
KIECS ;

3) Ram Kamal Mukherjee
W A TSI

4) K. Vijay Kumar

&. faog AR

Correct Answer: Yasser Usman

IR ITIH
Candidate Answer: [ NOT ANSWERED ]

QID : 49 - Which among the following country exited from Trans Pacific Partnership (TTP) in Jan 2017 ?

fafafea 7 @ 9 a1 3 SHakt 2017 # g 3ffthe ard—R & amex fAeer mar?

Options:

1) Japan

ST

2) USA

TGh I SRR
3) Mexico
Aferent

4) Brunei

Correct Answer: USA
TGh I SRR

Candidate Answer: Mexico

QID : 50 - Which of the following country doesn't matches to its famous tourist place?

fFafafEa § 9 a9 ar 2 smm uflig udes wiat & A 781 @ran

Options:

1) China - Great Wall of China

I - =7 il fame daR

2) Bhutan - Paro Taktsang

Y — RS

3) Nepal - Pashupatinath Temple

JUTel — TRIUTeATe HiGR

4) Sri Lanka — Padmanabhaswamy Temple

Correct Answer: Sri Lanka - Padmanabhaswamy Temple
Candidate Answer: Sri Lanka — Padmanabhaswamy Temple

QID : 51 - How many numbers are there from 2000 to 7000 which are both perfect squares and perfect cubes?

2000 & 7000 ek U=ft et Teamd & St gof avf qur gof o= g+t &7
Options:

Correct Answer: 1

Candidate Answer: 1

QID : 52 - 3 men or 4 women can complete a job in 120 days. 12 men and 16 women will complete the same job in how many days?

3 IV 37T 4 AfgeTd ek i aht 120 AT OR1 R Gehdt €112 Yo T 16 AfGATS I i bl feha T # R aherl?

Options:
1)12

2)14
3)15

4)18
Correct Answer: 15
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Candidate Answer: 15

QID : 53 - If the diameter of a hemisphere is 21 cm, then what is the volume (in cm3) of hemisphere?

T Uen 31ef 7iet et ey 21 .. 8, it 3ref et et S (§.+.3 #) fha ghm?

Options:
1) 2810

2) 1250.5
3) 1725.25
4) 2425.5

Correct Answer: 2425.5
Candidate Answer: 2425.5

QID : 54 - After two successive discounts of 20% and 12% an article is sold for Rs 16896. What is the marked price (in Rs) of the article?

20% T 12% I 3 hfHeh Te & T1& Geh a¥g I 16896 3. H a4 ST &1 I o1 Sifehd Ted (3. H) F1 8?

Options:
1) 21500

2) 23800
3) 22000

4) 24000
Correct Answer: 24000
Candidate Answer: 24000

QID : 55 - The ratio of speed of three racers is 3 : 4 : 6. What is the ratio of time taken by the three racers to cover the same distance?

f< eraent & IR o1 STIUTA 30 4 6 8| TH G a1 e # Sch GIRT ford T8 FHY ST STIOTd T RTT?
Options:

Correct Answer: 4:3:2
Candidate Answer: 4:3:2

QID : 56 - In a match, average of runs scored by 7 players is 53. If the runs scored by 6 players are 121, 40, 26, 56, 37 and 48, then how many runs did the 7th player
scored?

s A9 A 7 Raenfedt & gRr s=1e 1y A1 Frsfad 53 §1 3 6 Raenfeat & gRT s=g 19 3 121, 40, 26, 56, 37 9UT 48 §, dt 7 3 fRermet 7 foham 3 =g ghi?
Options:

Correct Answer: 43
Candidate Answer: 43

QID : 57 - Mohit buys an old bicycle for Rs 2700 and spends Rs 500 on its repairs. If he sells the bicycle for Rs 3520, then what is his profit percentage?

Tifed Ter QR TrEfahet 2700 %. 8 Wiear § a7 500 %, ITh! AR R Wd il &1 IS ag Trgfohet ht 3520 &. & SdT &, df Ieh! a1y ufderd foramm &2
Options:

Correct Answer: 10
Candidate Answer: 10

QID : 58 - If the price of onion increases from Rs 24/kg to Rs 36/kg, then by what percentage a household should decrease the consumption of onion so that
expenditure remains same?

I ot o1 e 24 %. ufd fR.a. @ 36 <. ufd foR.am. 8t s1rar 8, oY gk euft a6t wret i @ud fohant ufasra s e &Y anfey anfes e wwme 8?7
Options:

1) 25

2)33.33

3)50

4)20

Correct Answer: 33.33

Candidate Answer: 33.33

QID : 59 - A train travels 20% faster than a car. Both start from point A at the same time and reach point B, 180 km away at the same time. On the way the train takes
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30 minutes for stopping at the stations. What is the speed (in km/hr) of the train?

Teh SATS! Ueh R § 20% T Teld! 81 31 fog A & To 81 IHd TR IR &hxd & 4T 180 k.. ¥ fe¥ra fig B IR ok &t o R ugad &1 71 7 3ol Rl iR ¥ & forg 30 fme
St &1 3ot <t fay (6., uf der F) T g2

Options:

1) 56

2) 66

3)72

4) 80
Correct Answer: 72
Candidate Answer: [ NOT ANSWERED ]

QID : 60 -

L

Options:
1)3

2)2
3)4

4)6
Correct Answer: 2
Candidate Answer: 2

QID : 61 - If (x/y)@* = (y/x)22°5, then what is the relation between x and y?

afe (x/y)@* = (y/x)22°5, dt x q y o ot o e 82

Options:

x>y

2) Cannot be determined

1 &Y e ST Fepar

3)x<y

4 x=y

Correct Answer: Cannot be determined
1 & e 1 Fepar

Candidate Answer: Cannot be determined
1 & e ST Fepar

QID: 62 -

L

Options:
1) 25/7

2)4
3)31/7

4) 33/7
Correct Answer: 25/7
Candidate Answer: [ NOT ANSWERED |

QID : 63 - If 3a - (3/a) — 3 = 0, then what is the value of a% — (1/a8) + 2?
gf& 3a - (3/a) - 3=0,dta - (1/a3) + 2 wI A T &?

Options:
1)0

2)2
3)4

4)6
Correct Answer: 6
Candidate Answer: 4

QID: 64 -

L
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Options:
1)7/2

2)4
3)7
414

Correct Answer: 7
Candidate Answer: 7

QID : 65 - In AABC, AD is the median and AD = (1/2)BC. If ZACD = 40°, then what is the value (in degrees) of ZDAB?

33T ABC #, AD #fediehT € @2 AD = (1/2)BC 81 afe £ACD = 40° &, @ «DAB @1 | (&t &) @ ghm?

Options:

1) 30

2) 40

3) 50

4) 80

Correct Answer: 50
Candidate Answer: 40

QID : 66 - Circum-centre of AABC is O. If ZBAC = 75° and £BCA = 80°, then what is the value (in degrees) of Z0AC?

3T ABC &1 uRdhs O 81 afd £BAC = 75° duT £BCA = 80° 8, @ £ OAC &1 a1 (feft &) @m ghm?
Options:

Correct Answer: 65
Candidate Answer: 65

QID : 67 - Smaller diagonal of a rhombus is equal to length of its sides. If length of each side is 4 cm, then what is the area (in cm?) of an equilateral triangle with side
equal to the bigger diagonal of the rhombus?

Toh THAGST o1 BieT ot ITehT yetrail &Y owTs 3 SRR &1 A Tedich YT &t s 4 .Y, 8, o 37 THeg RogeT 1 St (3.701.2 F) o g Rt oo smag et & 9 farenof
& SRR &2

Options:
16

2)9v3
3)12

4) 12v3
Correct Answer: 12v3
Candidate Answer: 12v3

QID: 68 -

L

Options:
1) 47

2) 68
3)72

4) Cannot be determined
1 Tt o ST Fepar

Correct Answer: 68
Candidate Answer: 68
QID : 69 - What is the simplified value of (cos A + sin A)(cot A + tan A)?

(cos A + sin A)(cot A + tan A) T TRelIchd HIF I 872

Options:
1) sec A+ cosec A

2) sin A+cos A
3)tan A+cotA

4) sec A - cosec A
Correct Answer: sec A + cosec A
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Candidate Answer: sec A + cosec A

QID:70-

A

Options:

1) v2sec A

2) V2 cosec A

3)sec2A

4) 2sec A

Correct Answer: v2 sec A

Candidate Answer: v2 sec A

QID: 71 -1f 2 cos © = 2 - sin B, then what is the value of cos 6?

Tf& 2 cos 6 = 2 — sin B, A cos B T AT T I?
Options:

1) 10or3/5

13a13/5

2)1or-1/2

1a1-1/2

3)-10r-1/2

-13a1-1/2

4) -10r3/5

-13a13/5

Correct Answer: 1 or 3/5
13a13/5

Candidate Answer: [ NOT ANSWERED ]

QID:72-

Ly

If the total trade of the country in year 3 was 1183 crore dollars, then what was the difference (in crore dollars) between exports and imports of the country in that
year?

Ifg A T aY 3 H T ATIR 1183 FetS Sher T, A I Iy 427 & T qe Fafa & &g o eiek (i efer &) foramm om?
Options:

1) 169

2)173

3) 142

4) 158

Correct Answer: 169

Candidate Answer: 169

QID:73-

Ly

The total trade for Year 2 and Year 4 is same. If exports of Year 4 are 315 crore dollars, then what are the imports (in crore dollars) of Year 2?

e 2 g1 af 4 T Pt ATIR A &1 I a 4 1 Fafa 315 aie Sierk &, at v 2 a1 SmaTd (ahie Sfer #) fhaar 82

Options:
1) 306.4
2) 309.8
3) 323.7
4) 318.5
Correct Answer: 318.5

Candidate Answer: [ NOT ANSWERED ]|

QID:74-

L

Total trade of Year 1 is twice of the total trade of Year 5. If total trade of Year 1 is 5700 crore dollars, then what is the difference (in crore dollars) in exports of Year 1
and Year 5?

e 1 1 ot TR a5 % et TR T SRAT &1 S I 1 T Frel ATIR 5700 g Sier &, Y a¥ 1 qen ay 5 & fafa & fham siar (e efer &) ghm?

Options:
1) 1835
2) 1632
3) 1368
4) 1423

Correct Answer: 1632
Candidate Answer: 1632

QID:75-
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L

The total trade of 5 years is 3800, 3600, 2800, 3900 and 5000 crore dollars respectively. What is the difference (in crore dollars) in the average exports and average
imports respectively?

5 99T ol el AR AT 3800, 3600, 2800, 3900 AT 5000 FHRIE SieR &1 ThALT: S Fafd duT sfad= Smard & fhaT SiaR (Fie Sfelk #) 82
Options:

1) 60

2) -60

3) -90

4)120

Correct Answer: 60

Candidate Answer: [ NOT ANSWERED ]

QID : 76 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If a
sentence is free from error, select 'No error'.

On Sundays (1)/ | prefer reading (2)/ than going out visiting my friends. (3)/ No Error (4)
Options:

Correct Answer: 3
Candidate Answer: 3

QID : 77 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If a
sentence is free from error, select 'No error'.

Rohit is two year (1)/ junior than Mukesh (2)/ in the office. (3)/ No Error (4)
Options:

1)1

2)2

3)3

44

Correct Answer: 2

Candidate Answer: 2

QID : 78 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option.

God is .

Options:

1) immanent

2) mortal

3) imminent

4) deference

Correct Answer: immanent

Candidate Answer: imminent

QID : 79 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option.

Riya ____ her matriculation examination in 2016.
Options:

1) completed

2) passed

3) obtained

4) gathered

Correct Answer: passed
Candidate Answer: [ NOT ANSWERED ]

QID : 80 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Articulate
Options:

1) Dominate
2) Distinct
3) Helpers
4) Unsteady

Correct Answer: Distinct
Candidate Answer: Dominate

QID : 81 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Ascend
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Options:
1) Lay
2) Climb
3) Weaken
4) Void
Correct Answer: Climb
Candidate Answer: Climb

QID : 82 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Waggish
Options:

1) Jocular

2) Whimsical
3) Flippant
4) Solemn

Correct Answer: Solemn
Candidate Answer: Whimsical

QID : 83 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Desecrate
Options:
1) Sanctify
2) Profane
3) Befoul
4) Defile

Correct Answer: Sanctify
Candidate Answer: Sanctify

QID : 84 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/Phrase.

Will-o-the wisp

Options:

1) Something that is impossible to get or achieve.
2) To keep off an unwanted and undesirable person.
3) To spend recklessly.

4) Accept or leave the offer.

Correct Answer: Something that is impossible to get or achieve.
Candidate Answer: To spend recklessly.

QID : 85 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/Phrase.

To go through fire and water

Options:

1) To scold someone

2) To experience many dangers in order to achieve something
3) To act without restraints

4) Something which hurts

Correct Answer: To experience many dangers in order to achieve something
Candidate Answer: To act without restraints

QID : 86 - Improve the bracketed part of the sentence.

We do not (agree on) certain things.
Options:

1) agree to

2) agree about

3) agree of

4) No improvement

Correct Answer: No improvement
Candidate Answer: agree to

QID : 87 - Improve the bracketed part of the sentence.

There are two pens here and (either write) well.
Options:

1) either have written

2) either wrote well

3) either writes

4) No improvement

Correct Answer: either writes
Candidate Answer: either writes

QID : 88 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the phrase.
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A strong blast of wind.
Options:

1) Implosion

2) Trickle

3) Gust

4) Mantle

Correct Answer: Gust
Candidate Answer: [ NOT ANSWERED |

QID : 89 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the phrase.

Phobia of dogs
Options:

1) Orophobia

2) Cynophobia

3) Vatrachophobia
4) Phemophobia

Correct Answer: Cynophobia
Candidate Answer: Cynophobia

QID : 90 - In the following question, four words are given out of which one word is incorrectly spelt. Find the incorrectly spelt word.
Options:

1) Bulettin

2) Barrage

3) Buoyant

4) Beginner

Correct Answer: Bulettin

Candidate Answer: Buoyant

QID : 91 - In the following question, four words are given out of which one word is incorrectly spelt. Find the incorrectly spelt word.
Options:

1) Guidance

2) Ambassador

3) Handkercheif

4) Labourer

Correct Answer: Handkercheif
Candidate Answer: Handkercheif

QID : 92 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a coherent
paragraph.

P: He was a funny looking man with a high, bald, done shaped head, a face very small in comparison and a long wavy beard.
Q: He didn't work at his trade-a stonecutter, more than what was necessary to keep his wife and three boys alive.
R: His unusual features were standing a joke among his friends.

S: He was a poor man-an idler.

Options:

1) PRQS

2) QPSR

3) RQPS

4) SRPQ

Correct Answer: PRQS

Candidate Answer: PRQS

QID : 93 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a coherent
paragraph.

P: When all the credit worthy people were given loans to a logical limit, they ceased to be a part of the market.

Q: Even this would have been understandable if it could work as an eye opener.

R: Owing to the materialistic culture elsewhere, it was possible to keep selling newer products to the consumers despite having existing ones which served equally
well.

S: They were lured through advertising and marketing techniques of 'dustbinisation’ of the customer; and then finally, once they became ready customers, they were
given loans and credits to help them by more and more.

Options:

1) PRQS

2) RSPQ

3) QSPR

4) RPQS

Correct Answer: RSPQ
Candidate Answer: [ NOT ANSWERED ]|

QID : 94 - In the following question, a sentence has been given in Active/Passive voice. Out of four alternatives suggested, select the one which best expresses the
same sentence in Passive/Active voice.

John was arrested on a charge of murder, but for lack of evidence he was released.
Options:
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1) The police arrested John on a charge ot murder, but tor lack ot evidence released him.
2) John was arrested on a charge of murder but was released for lack of evidence.
3) The police arrested John on a charge of murder, but for lack of evidence he was released.
4) John had been arrested on a charge of murder, but for lack of evidence he had been released.
Correct Answer: The police arrested John on a charge of murder, but for lack of evidence released him.

Candidate Answer: [ NOT ANSWERED ]

QID : 95 - In the following question, a sentence has been given in Direct/Indirect speech. Out of the four alternatives suggested, select the one which best expresses
the same sentence in Indirect/Direct speech.

He said, "l saw a snake here."

Options:

1) He said that he had seen a snake there.

2) He said that he saw a snake here.

3) He said that he saw a snake there.

4) He said that he had seen a snake.

Correct Answer: He said that he had seen a snake there.

Candidate Answer: He said that he had seen a snake there.

QID : 96 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

Morality is with ethics and symbolises the doctrine of actions right or wrong. Politics is the of expediency and need not always be . If something is
wrong and expedient, it cannot be .

Morality is with ethics and symbolises the doctrine of actions right or wrong.
Options:

1) discussed

2) identified

3) recognised

4) rectified

Correct Answer: identified

Candidate Answer: identified

QID : 97 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

Morality is with ethics and symbolises the doctrine of actions right or wrong. Politics is the of expediency and need not always be . If something is
wrong and expedient, it cannot be .

Politics is the of expediency
Options:

1) source

2) collection

3) requirement

4) notion

Correct Answer: notion
Candidate Answer: notion

QID : 98 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

Morality is with ethics and symbolises the doctrine of actions right or wrong. Politics is the of expediency and need not always be . If something is
wrong and expedient, it cannot be .

and need not alwaysbe _____.
Options:

1) wrong

2) right

3) neutral

4) different

Correct Answer: right

Candidate Answer: right

QID : 99 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

Morality is with ethics and symbolises the doctrine of actions right or wrong. Politics is the of expediency and need not always be . If something is
wrong and expedient, it cannot be .

If something is wrong and _____ expedient,
Options:

1) merely

2) essentially

3) surely

4) hardly

Correct Answer: merely
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Candidate Answer: essentially

QID : 100 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Morality is with ethics and symbolises the doctrine of actions right or wrong. Politics is the of expediency and need not always be . If something is
wrong and expedient, it cannot be .

it cannot be .
Options:

1) justifiable

2) relevant

3) acquired

4) immoral

Correct Answer: immoral

Candidate Answer: acquired
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